Week 15: Notes for Year 1 parents
 (Remember gold prizes from me for neat outstanding work)
· Write the date (today's date)
· Write the L.O:
· Miss a line 
· Question numbers in the margin and write answers on the line.

(I will be asking your parents if your work looks neat and I myself will check your work once you come back to school inshaallah)

Parents please show them the PowerPoint slides for their Year group, as it gives them model questions and practise on how to do the working out. Please refer to it daily so that you are reinforcing the skills and ideas.

The children should start the first worksheet for their year group, and if they feel confident, they should move on to the next worksheet as the work becomes more challenging.  
Challenges: Write an explanation of how you know the answer is correct.
Friday 3rd July 2020

Year 1 Maths
REMEMBER: Spend at least 10 minutes a day memorising your times table!

SPECIAL PRIZE: 
If you memorise all of the times tables when you return to school!

Note to parents: I have attached some fun link that will be useful in supporting your child’s learning. Please copy and paste the links below into your web browser to access.

Please click on the link for more information:

https://www.bbc.co.uk/bitesize/clips/z2g4wmn


[bookmark: _Hlk42098227]
[bookmark: _Hlk43329611][bookmark: _Hlk43996641]Week 15 
Friday 3rd July 2020
Year 1 Maths
LO: To recognise and know the value of coins
 
[image: ]






























Week 15 
Friday 3rd July 2020
Year 1 Maths
LO: To recognise and know the value of coins

[image: ]






























Week 15 
Friday 3rd July 2020
Year 1 Maths
LO: To recognise and know the value of coins
	
[image: ]


2

image3.png
Email - Souad

> C O File| CyUsers/guestd

1-Autumn 3

O Type here to search

62

aida-Outlc X @ PowerPoint Presenta

0pc/Downloads/Year-1-Autumn-Block-4-Step-1-RPS-Recognising-Coins.pdf

x

m

5]

1-2 Oniine Home Leaming - X | M am and pm yr T an

L==..  classroomsecrets.co.uk

Reasoning and Problem Solving - Recognising Coins - Year 1 Expected

7a. Henry has four coins in his pocket.
They total 62p.

His friend Lucile says:

Henry must

have a 50p
coin, a 10p coin
N

and two 1p

coins.

Explain the mistake Lucile has made.

8a. Complete the table.

9a. Complete the part whole model in as
many different ways as you can using
these coins. Use four coins or less.

7b. Jemima has some silver coins in her
pocket. They total 35p.

Her friend Jackey says:
Jemima could

have a 10p coin,
a20p coin, two 2p

coinsand a 1p

9b. Complete the part whole model in as
many different ways as you can using
these coins. Use four coins o less.
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PowerPoint Presentation

1a. Sam has two coins in his pocket. They | 1b. Alix has three coins in her pocket.
total 4p. They fotal £3.

His friend Kate says: Her friend Ferhan says:

Sam must have
o, Alix must have
P wo £1 c
1p coin.
Explain the mistake Kate has made. Explain the mistake Ferhan has made.

2a. Complete the fable. 2b. Complee the fable.

3a. Complete the part whole model using | 3b. Complete the part whole model using
two coins. two coins.
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4a. Jerome has two coins in his pocket.
They total 60p.

His friend Harry says:

Jerome must
have a 1p coi
and a 5p ¢

Explain the mistake Harry has made.

5a. Complefe the table.

6a. Complete the part whole model in as
many different ways as you can using
these coins. Use three coins or less.

4b. Phills has three coins in her pocket.
They total £5.

Her friend Mikey sa

Phillis must have
a £2 coin and
wo £1 coins.

Explain the mistake Mikey has made.

5b. Complete the table.

6b. Complete the part whole model in as
many different ways as you can using
these coins. Use three coins of less.
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